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Max. Marks : 75
SECTION A — (10 × 2 = 20 marks)

Answer ALL the questions.
1. Define cost.

2. Mention any two of cost concepts.

3. What is meant by ‘Bin Card’?

4. What is labour cost?

5. Give the meaning of ‘Contract Costing’.

6. Calculate works cost:

           `
Factory expenses       700

Office expenses         300

Selling expenses        900

Material consumed 3,400

7. Prepare a cost sheet from the following:

           `
Direct materials 

50,000

Direct wages

         15,000

Factory expenses 

  5,000

Office expenses 

  1,000

Selling expenses 

     500

8. Maximum consumption: 600units

Maximum reorder period: 6 months

Calculate Reorder level.

9. From the following data given by the Personnel Department, calculate the labour turnover rate by applying Separation method.

During the month 10 workers left; 40 workers were discharged and average number of workers are 1000

10. Prepare Contract account.

Contract price 


       `1,00,000

Materials sent to contract at site    `50,000

Closing stock of Material at site    `25,000

SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions.

11. State the importance of Cost Accounting.

12. What are the methods of Market price?

13. Calculate prime cost, Factory cost, Cost of Production, Cost of sales and profit from the following details:

           `
Direct materials 

10,000

Direct labour 

  4,000

Direct expenses 

     500

Factory expenses 

  1,500

Administrative expenses  1,000

Selling expenses 

     300

Sales


         20,000

14. The following information is relating to a material for the year ended 2010.

The value of material is ` 1 per kg.

Opening stock 
     800kg.

Purchases 

12,000kg.

Closing stock              400kg.

Calculate the material turnover ratio.

15. In a factory workers are paid at ` 50 per hour. During the month of April 2010, there were 25 working days of 8 hours each.

There is also a ‘piece work plan’ where in `10 is to be paid per piece produced. During the month worker ‘x’ produced on average 48 pieces per working day. Ascertain the wages of worker ‘x’ under

a) Time wages b) Piece wages

16. From the following information calculate the labour turnover rate:

Number of workers at the beginning of the period: 3800

Number of workers at the end of the period: 4200

During the year, 40 workers left while 160 workers are discharged. 600 workers are recruited during the year; of these 150 workers are recruited to fill up vacancies and the rest are engaged on account of an expansion scheme.

17. Seema & Co., undertook a contract for construction of a private house. Contract price was ` 40,00,000. The following were the details:

Materials sent to contract site 


 `16,00,000

Labour 






 `10,00,000

Subcontracts for Plumbing and Electricity ` 4,00,000

Sundry expenses 




  ` 2,00,000

Closing stock of material at site 

  ` 1,00,000

Prepare contract account and determine the profit or loss.

18. The following are the expenses of Balaji & Co., in respect of a contract which commenced on 1st January 2010:

Materials purchased 

` 50,000

Materials on hand 


`   2,500

Direct wages 


` 75,000

Plant issued 



` 25,000

Direct expenses 


` 40,000

The contract price was ` 7,50,000 and the same was duly received when the contract was completed in August 2010. Charge indirect expenses at 15% on wages; provide `5,000 for depreciation on plant and prepare the contract account.
SECTION C — (2 × 15 = 30 marks)

Q.No. 19 is compulsory and any ONE from the rest of two questions.

19. The accounts of the Steels Ways Engineering Co., Ltd for 2012 are as follows

     


`
Materials used 







      1,80,000

Manual and machine labour wages directly chargeable       1,60,000

Works overhead expenditure 



    

40,000

Establishment and general expenses 


    

19,000

a) Show the works cost and total cost.

b) Find the percentage that the works overhead cost bears to the manual and machines

labour wages and the percentage that the establishment and general expenses bear to

the works cost.

c) What price should the company quote to manufacture a machine which is estimated

to require an expenditure of ` 8,000 on materials and ` 6,000 on wages so that it

will yield a profit of 25% on the total cost or 20% on selling price:

20. From the particulars given below write up the stores ledger card:

2007

January  1 Opening stock 
1000 units at ` 26 each

5 Purchased 

500 units at ` 24.50 each.

7 Issued 


750 units.

10 Purchased 

1,500 units at ` 24 each

12 Issued 


1,100 units

15 Purchased 

1,000 units at ` 25 each

17 Issued 


500 units

18 Issued 


300 units

25 Purchased 

1,500 units at ` 26 each

29 Issued 


1,500 units

Adopt the FIFO method of issue and certain the value of the closing stock.

21. Kumaresh Ltd., has production department ‘A’, ‘B’, and ‘C’ and two service department ‘D’ and ‘E’ the following figures are extracted from the records of the company:

Rent and rates ` 5,000

Indirect wages ` 1,500

Depreciation of machinery ` 10,000

General lighting ` 600

Power ` 1,500

Sundries ` 10,000

Following further details are available

	
	Total
	A
	B
	C
	D
	E

	Floor space in square feet
	10,000
	2,000
	2,500
	3,000
	2,000
	500

	Light points
	60
	10
	15
	20
	10
	5

	Direct wages (`).
	10,000
	3,000
	2,000
	3,000
	1,500
	500

	H.P of machines
	150
	60
	30
	50
	10
	-

	Value of machinery (`)
	2,50,000
	60,000
	80,000
	1,00,000
	5,000
	5,000


Apportion the cost to various departments on the most equitable basis by preparing a

primary department distribution summary.    
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